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LER—IL J0—4)5 6.000 X 8500 = 51.000 A
RRE BRI LRIV 6500 x 3000 = 19.500 | A
BRAR—R J0—1y>4% | 12000 x  3.000 = 36.000

J0-—1)4 6.500 X 2500 = 16.250
& &t 52.250( A
1 W C EZ—J)LY—k| 7250 x 6500 = 47.125| ¥
WC(&) E-—JL>—k| 2400 x 2000 = 4.800| ¢
FEERZEA E-—J)L>—k| 3585 x 8500 = 30.472| %
P& =B E=——JL>—k| 3585 x 8500 = 30.472| %
ERTFA J0—1J>% | 60000 x 2700 = 162.000| A
% | TB Ja—yv4 | 2100 x 8500 = 17.850| A
# |EBETC 0=y 2100 X 8500 = 17.850 A
R [EETA E=——JL>—k| 6100 x  2.700 = 16.470| A
ERTB E=Z—J)L>—K| 6100 x 2700 = 16.470| A
F B8 = E-—L—bk 174.500| O
IR E=Z——J)L>—k| 3650 x 2600 = 9.490
S—T4T I —L |[FEHIEZMIL 15.310| O
¥REE BAILH—RYk 56.143
HHEEHhEE E=-—J)L>—k| 5750 x 8500 = 48875 @
EERIEE BAIH—~vN 3850 x 8500 = 32.725 [ O
HEERE AAIH—~YN 3000 x 8500 = 25.500 | &
EOE 70—Y>4 | 19000 x 21.000 = 399.000| @
REE J0—1)>% | 18000 x 8500 = 153.000| @
B T E=—JL —k| 3000 x 20475 61.425
E=—)Lo—k| 2800 x 7.000 = 19.600
= E=—)L —K| 9000 x 3.100 27.900
= B 108.925 | A
AR—IL E=—JL> —k| 7500 x 8.000 60.000
B E=—)L>—k| 3000 x 4500 13.500
= i 73.500 | A
i \ 0.000
W C E=—I/Lo—k| 4000 x 3500 = 14.000
E=—)L —k| 5000 x 3500 17.500
& 5 31.500 | ¢
" WC (L) E=—JL —k| 6500 x 3550 23.075 | %
2 EE WC(G) E=—)L —K| 6500 x 3700 = 24.050 | Y%
F 1o |PEEREA E=—JL>—k| 8500 x 3850 = 32725 | %
FEEZEB E-——JL>—K| 8500 x 3850 = 32.725 | %
WC(L) E=Z—IJ)LY—K| 6500 x 3550 = 23.075 | %
3 WC(G) E=—JL—k| 6500 x 3700 = 24.050 | ¥¢
Fl . FEERZEA EZ—ILY—k| 8500 x 3850 = 32.725 | %
E [BEEX=B EZ—J)Lo—K| 8500 x 3850 = 32.725 | %
13 F4ER—IL E-—I)Lo—R| 8500 x 9250 = 78.625
WC(L) E-—)L—K 6500 x 3550 = 23.075 | %
4 | & |WC(G) EZ—J)L —k| 6500 x 3700 = 24.050 | ¥
F BEEREA E=—J)Lo—k| 8500 x 3850 = 32.725 | %
FEEXEB E-—I)L—k| 8500 x 3850 = 32.725 | %
R FEERZEB E=—JL>—K| 8500 x 3.850 32.725 | %
INEH 2,043.802
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£ A 1400 x 5200 = 7.280
{5:| = =) 5750 X 1.400 = 8.050
IVNSVRR—F | ¥ & 4600 x 4000 = 18.400
(ZERY) WA 6200 X 5600 = 34720
] £ A 3200 X 5600 = 17.920
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LEER—IL a—Yyvy 6.000 X 8500 = 51.000[ A
BRAR—R 70—Y>4 | 12000 x  3.000 = 36.000

0=y 6.500 X 2500 = 16.250
& &t 52.250( A
1 W C E=Z—/LL—k| 7250 x 6500 = 47.125( %
WC(&) EZ——JL>—k| 2400 x 2000 = 4.800| ¢
R EXZEA E-—J)L—k| 3585 x 8500 = 30472 %
MEEZ =B E=——J/LL—k| 3585 x 8500 = 30.472| %
ERTFA 70—Y)v4 | 60000 x  2.700 = 162.000| A
ER B Ja—yvyg 2.100 X 8500 = 17.850| A
ERFC A=Yy 2.100 x 8500 = 17.850| A
EETA E=Z—J/L—k| 6100 x  2.700 = 16.470| A
EBRTB E=-—)Lo—k| 6100 x 2700 = 16.470| A
F Ba=E HEMHLE2AIL X = 174.500| O
BE E=Z—JLL—k| 3650 x 2600 = 9.490
= S—T4 T I —L |BFERIEEAIL X = 15.310[ O
L]
® #EE Z0—Y>4 | 19.000 x 21.000 = 399.000| @
SEE 70—Y>4 | 18000 x 8500 = 153.000| @
B T E=—J)Lo—k| 2700 x 60.000 = 162.000
E=-—)Lo—k| 1600 x 2000 = 3.200
2 E-—J)L—k| 1200 x 2000 = 2.400
a Gt 167.600
FHER—IL EZ—JLY—k| 8500 x  4.050 = 34.425
WC (L) EZ——JLY—k| 6500 x 3550 = 23.075| %%
WC (G) E-——JL>—k| 6500 x  3.700 = 24.050( ¥
MEEZZ=A E-—/LL—k| 8500 x 3.850 = 32.725| %
MEER=B E=-—)L>—k| 8500 x 3.850 = 32.725( %
F SATLEREE1-2 [HEHLEZAIL 168.810| O
M E HEMLES2C)L| 3500 x  6.000 = 21.000| &
Tz E=—JL>—k| 3500 x  6.000 = 21.000{ &
AT LEE wERIERAIL| 8500 x  6.000 = 51.000( &
VAT LEE2 wEMIEZAIL| 8500 x  6.000 = 51.000( &
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WC (L) E-——JL>—k| 6500 x 3550 = 23.075| %
WC (G) E=-——JL>—k| 6500 x  3.700 = 24.050( %
FEEXZEA E=-—/L>—k| 8500 x 3850 = 32.725| %
FEEXZEB E-—J)L—k| 8500 x  3.850 = 32.725| %
BERMRMURKE | EZ—)LY—k| 8500 x 13500 = 114.750| @
ER T E=-—J)Lo—k| 2700 x 60.000 = 162.000

EZ—JL>—K| 1600 x 2000 = 3.200
E-—J)L—k| 1200 x 2000 = 2.400
= 167.600
FHER—I E=Z—J/L—k| 8500 x 9.250 = 78.625
MR = E=Z—JL>—k| 8500 x  6.000 = 51.000
BHERHE E=Z—JL—k| 8500 x  6.000 = 51.000
BERHKE E-—J)L>—k| 8500 x  6.000 = 51.000
MR HE2 E-—J)L>—k| 8500 x  6.000 = 51.000
HER#H=E2 E=Z—JL>—k| 8500 x  6.000 = 51.000
o BEMHKE2 E=-—/L>—k| 8500 x  6.000 = 51.000
B (RTRH=E E=Z—J/L—k| 8500 x  6.000 = 51.000
" B= E=-——JL>—k| 8500 x  6.000 = 51.000
& F 408.000| @
B T E=-—J)L—k| 60000 x 2700 = 162.000
E=-—/L>—k| 1600 x 2000 = 3.200
E-——JL>—k| 1200 x 2000 = 2.400
& &t 167.600
WC (L) E-——JLY—k| 6500 x 3550 = 23.075| %
WC (G) E=-—/L—k| 6500 x  3.700 = 24.050( ¥
FEERZ=A E=Z—JL>—k| 8500 x  3.850 = 32.725| %
FEEXZEB E-—J)L—k| 8500 x 3850 = 32.725| %
REERBEEETE
E-——JL>—k| 8500 x 18.000 = 153.000| H
no ERE E=Z—JL—k| 6000 x  6.000 = 36.000| W
THE
E-—J)Lo—k| 8500 x 12.000 = 102.000| W
HE= E=——JL>—k| 8500 x  6.000 = 51.000| W
INET 1,503.725
EEREE 3,329.194
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ER T E=—)Lo—k| 3000 x 20475 = 61.425
E=—)L>—k| 2800 x  7.000 = 19.600
E=-—)Lo—k| 9000 x 3100 = 27.900
1 a Hi 108.925| A
AR—IL E=-——JL>—K| 7500 x 8000 = 60.000
E-——)L>—k| 3000 x 4500 = 13.500
F = H 73.500| A
WC E=-—)Lo—k| 4000 x 3500 = 14.000
E=-——JL>—K| 5000 x 3500 = 17.500
a H 31.500| %
B B E=-—/L>—k| 5300 x  1.750 = 9.275| V
ERT 1 E=—LBAJ)L| 1750 X  6.000 = 10.500| ©
BEMERE N=hybya7— 8.750 X  4.400 = 38.500| ¢
BM=E N=ryb707— 3925 x 5600 = 21.980
N=lyha7— 1400 X 2350 = 3.290
2 |z a it 25.270| 3¢
§ BEH=E N=ryh707— 5700 x 5300 = 30.210
it N—=rybon7— 1.400 X  6.700 = 9.380
# & & 39.500| 3¢
F = E=—/LZA)L| 18000 X  7.000 = 126.000| *
B E=Z—JL>—k| 5400 x  1.600 = 8.640| V
ERTF2 E-—JLBA/J)L| 1800 X 4750 = 8.550
E=—JLBA/JL| 1.100 X  1.800 = 1.980
& H 10.530| ©
HERERE N=ryh707— 8.450 x  6.000 = 50.700| D¢
EEE1 W=hybya7- 6.700 X  7.775 = 52.092| 3%
EEE2 N=lyk707— 9.115 X 6.500 = 59.247| 3¢
Blg T E=-—JLBAJ)L| 1750 x 15550 = 27.212
2 E=—JLBAJL| 1750 x 4550 = 7.962
TIJ“% E-—Laq)L| 1750 x 12475 = 21.831
*Z a &t 57.005| ©
B E=Z—JL>—k| 1750 x  6.500 = 11.375
EZ—ILo—k 1750 X 8250 = 14.437
a H 25.812|V
R R B = N=ryko7 8.750 x 14.000 = 122.500| 2%
2 | pe |HEWERLERE N=tyhon7 8.750 X  6.000 = 52.500 3%
g BT E=—aq | 1750 x 13000 = 22750
i EZ—ILBA/JL| 6070 X 2800 = 16.996
FI® = H 39.746| ©
B B E-—ILBAJ)L| 4250 x 1.700 = 7.225|V
EE®REE 949.057
AEE 864.000
EHEREst 5,142.251
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